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Control Flow Graph(CFG)

e A control flow graph (CFG) in computer science is
a representation, using graph notation, of all path
s that might be traversed through a program durin
g its execution.

 The CFG is essential to many compiler optimizati
ons and static analysis tools.

e static analysis only and not compiling or running a
ny of the code which needs to be analyzed.

e The methods to do it are explained in details to g
et a better understanding of how the evaluation of
code can lead to a CFG.




CFG of some codes

Y
piblic class times | ([ {
int1i, j, a;
public static void main(3tring[]args){ . for(izll;
int 1,3,8; ( 1/0 )
. . . i<10; alse
for(i=1; i<10;it4){ v True '
fnr (]:1: ]{1{]: ].H.} [ False [ for(j: 1; ]
. A
g=1*; C <10,
System. ouf. println|i+"x"+j+"="+a); { True \f
} [ a=i*j;
} system.out.println(i+”x"+j+7=“+a);
}
} v
1 C_ i+ )
— 3 ]




import java.util.Scanner;
public clas=s calculate {

= public =2tatic void main(String[] args) {

int nl, n2;
float an;

String a: //15

Scanner sScan = new Scanner (System.in); intnl,n2;

System. cut.println ("FHIH = L=, float an;

nil=scan.nextInt ()} String a;
System.ount.println| n=HHTH = 2 "y Scanner scan = new Scanner(System.in);

System.out.println(“jﬁ HE = ),

nZ=zcan.nextInt():
nl=scan.nextInt();

System.ont.println ("SIATEE ),
a=scan.next ()
a.charht (0):

Systcm.out.println(“—',z— HE = ),

n2=scan.nextlnt();
System.out.println(“ S LF X} 2 24);

a=scan.next();

switch({a.charft (0)){ a=charAt(0);
case '+' : K switch(a.charAt(0)) {
an=nl+n?;
System.ocut.println (nl4+"4+"4n24+"="4+an) ;
break: ( System.out.println(n1+"+"+n2

Case ‘“+’:
+77:“+an);

case "'-!

an=nl-nz: Case ‘" - System.out.printIn(n1+”-

1l

- ”+ +”:“+ .
System.ocut.println(nl+"-"+n2+"="+an) ; n2 an);
break; Case ' System.out.println(n1+"%+n2

ase : +7=“Fan);
case -~

: s
an=nl*n2: \( Case /7 - ) > System.out.prmtln(nl-i— /”4+n2
7 +77:<<+an);

System.ocut.println(nl+"*"4+n2+"="+an) ;

r

break; default :
case "/°
4 N\
an=nl/n2;

. Break;
System.out.println (nl+"/"+n2+"="+an) ; L )
break:;

4
' N
defanlt : }
break:; \ } J
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public clas=s star {

public =2tatic void main(String[] args)

int i = 0;
int j,k;
int n = &5;

while (i<5) {
for(i=n-i-1;3>0:;3--){
Svatem.ocut.print ("™ ") ;

for (k=0;k<1+(2%1) ;k+4+) {
System.out.print ("*") ;

Svstem.ocut.printlin() s
i+

{

Int i=0;
Int j,k;
Int n=5;
While {
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[ For(j=n-i-1
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[ System.out.print(“ “);

)

C I

%[ For(k=0
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[ System.out. print(“ “);

)
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Statement of purpose

o Reachability or different coverage strategies are some of the

most common objectives.
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